025_Bologna_Process
Mi am_Class_B_Paper B

test Answer the following - - Marks 50 %)
Taaplly i g a3/ e LN 11 Y DAt ar O

Maustansiriyah University
Department of Chemistry e

: is-proportional, then the right equation is?

Answer cogllaV d) Il a [B] .

,_ - V f < ] « ' ol | / ] ‘ A \ :; »
2: If the deposmon is dommated then one of th % olIowMg w111 be true. <’ EN A
Answer:  a) AvgpH = +ve g c) AsubH +ve d) AsupH = -ve

—J A1 002 Ut Dy =l e o ATON

3: How many phases are there whe the pumber of vartants is one and the number of components is ‘one?
Answer: a) zero c?2 d) 3

)/ A [ } ~‘J -
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4: Which One of the following formulas represents the right equation of positive devzatton from Raoult ) 1aw9
Answer: m b) Ps=y4P"4 ¢) Py > y4Ps d) Py <x4P"4

-3 I 1S o -\

5: Addition of a non-volatile solute to the pure olvent causes a change in?

Answer: a) AmixH (w ) AmixV d) all of these
.'trﬁ’."dl’ l;}Lo’)"‘/ > s Y=\ } | ;,‘g\;v'w _‘;, \Jl o=

,"'6: How many p and F of Co; when it is posmone at the boundary of the phase?
v\ Answer: a)p=2& F=T / gp=1& F=2 dp=2&F=2
A l
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7: Liquid water and ice are forme 0

Answer; —a) 1 C ,/m, c) ic d)4C
8: With the two-componep ystem (Pb & Ag), one part of the solid phase consists of"
Answer o> _b) Pb +solution c) Ag + solution d) Pb + eutecttc

) A j ;I L’,‘:.f" ,’A\‘_‘ "‘f S “Jr:,H ,.-“»J-—v-"c') i J T ".,.'_2‘ ‘?-4/ { .
9: If you add a non—polar solute to a non-polar solvent, then the e &‘ pe of mixture will be - - - - - law.
Answer: a) Van’t Hoff’s b) Raoult S fornt Raoi d) + ve form Raoult’s

2 I/ 0c)1aol YA yD JL{!
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10: If it is required to calculate the YA, then one of the following laws will be appltcable’
Answer: a) Raoult Ty —> ¢) Dalton d) Van’t Hoff

[~

[IE The VP of pure benzene is 75 mthg at 20 °C, and VP of pure toluene is 25 mmHg at 20 °C. The

mole fraction of each pure< ent-is (.5. What is the partlal VP of each component after mlxmg"

m Using the diagram bétow-and-the3 riate phase rule, fill in all the blanks and determine the
composition of the all-eutectic mixture, all equilibria, all reversible and irreversible processes, and
the name of the regions located to the right and left of points C, E & AB? (Marks 25%
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